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openssl rsautl -encrypt -in FLAG -inkey public.pem -pubin -out flag.enc
openssl rsa -pubin -text -modulus -in warmup -in public.pem
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H 5,8 #&gmpy2 invert

def egcd(a, b):

ifa==0:

return (b, 0, 1)

else:

g,Y, x=egcd(b % a, a)

return (g, x- (b //a)*vy,y)

def modinv(a, m):

g, X, y = egcd(a, m)

ifgl=1:

raise Exception('modular inverse does not exist')
else:

return X %o m
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d=modinv(e,(p-1)*(g-1))
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m=pow(c,d,n)
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import gmpy?2

from gmpy2 import mpz

p = mpz(3487583947589437589237958723892346254777)
q = mpz(8767867843568934765983476584376578389)
e = mpz(65537)

d = gmpy2.invert(e, (g-1)*(p-1))
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n=87924348264132406875276140514499937145050893665602592992418171647042491658461
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def gcd(a, b):

ifa <b:

a,b=b,a

while b = 0:

temp=a%b

a=b

b = temp

return a
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print gcd(n1,n2)
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i=0

while 1:

if(gmpy.root(c+i*N, 3)[1]==1):



print gmpy.root(c+i*N, 3)
break

i=i+1
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import sys

sys.setrecursionlimit(10000000)
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$ c_1equiv mye_1}$ $mod$ $n$

$ ¢ _2equiv me_2}$ $mod$ $n$
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$c_1{s_1}c_2{s_2}equiv m$ $mod$ $n$

I SCAR

W

FEHEE R, HFFXRMNE, SRnE—, BORESES R,
5] -
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s = egcd(et, e2)

s1 = s[1]



s2 = s[2]

print s

n=n1

if s1<0:

s1=-s1

¢1 = modinv(c1, n)
elif s2<0:

§2=-82

c2 = modinv(c2, n)
m=(pow(c1,s1,n)*pow(c2,s2,n)) % n
**0x06 =45 **
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